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L 9%Rw Rar v. NN minimum amount of NMAN creating financial liability
a. opor o (amount), based on Yany 1 (v. 1)
i. 58w Kaw. Yar ) teaches that only eating generates 21n, not Pt
b. Sxw xax. no1na M (value) — based on 1
i. ppom: teaches that it must be something that could be wTp
c.:/Wp 31 MMIN — if someone eats less than nman no1, pays 13p but not wmn
i. Query: if it is 9", should pay with wmn; if less than 8", should pay nothing
ii. Answer: must be 5"9; nonetheless, must also be a m’13 to generate liability for wmn
iii. Comment (students to 979): this mwn cannot be authored by 98w Rar —he would argue for full liability at 8™
1.Response (977): could be 18w Rar — he may require both 13 as well as 8™
2.Challenge: Xn»11 — 5Rw RaR ruled that there is no pm>wn avn if less than a”v
a) To which opon answered: only meaningful re: n9’yn; for nmn, not liable until there is nra
i. But: if :1RW RaR requires both, should have stated “once it has a m13...”
3.977. retracted; from x®n» 1 invoking vp - n%Yn is only mwa (v. 2; o1 290 which is 1N - no liability Tm2)
a) switch: n%yn is more 1N, because it carries w”"an for less than nora
b) Challenge: only »a7 accepts n9»na nnon and his threshold is not
i. 977s defense: perhaps »17 accepts )R Rar (must hold liable with less than n12)
ii. Alternate defenses: other MR require intent of some sort (11211 or not poynn)
II. Quote from xn»11 (above): NN separated as ynn is not nmn (thus limiting our nwn to nxINM NMIN WM9N)
a.Source: v. 3 =19 nn; must be edible when separated
i. Challenge: nrnv MmN is a valid nwI9n post facto
ii. Answer: NRNO NNIN was, at one point, valid (W10 NYW 1Y Anon)
1.Challenge: so did ynn (before midday)
2. Answer: became ynn while in the ground (not yet accessible to nmn)
3.Alternate answer: nmN is a 1nn for the remainder (0”7Y)
II. 1N 7 and RT1ON A re: juice inside of XNV fruit
a. pny 1 if he stomps them as less than nx»13, even the wine may be used for n’>v)
i. He must maintain: that the juice is “contained” in the fruit ("1pa Tpan)
ii. Challenge: let him use a n¥"13 - we allow the juice of n¥»15 grapes squeezed by a nn xnv
1.Answer: that is only allowed Tay>73; n%’nnaY, we disallow as a v
b. &70n 7. holds the juices are absorbed in the fruit (91 YY)
i. Challenge: juices squeezed by a nn 8nv are allowed if n¥’2>
1. Answer: those grfapes were not nRmMY Yap IWNN
2.Proof: our Rnp12 (above) — 17277/p"1: Y™ compares pnn NRIN to IRNVIV B721Y NN
a) Comparison: they have no n%aR non
b) But if: per 3.nv "1, they have a n%axr an>n (less than nx¥»ad)
i. Answer (X37): not allowed to keep them around out of concern they may be eaten
1.Challenge (»an): we allow nknv 1IN to be kept around (bread, oil)
2.Defense (827): we remove the concern by throwing the bread in fire
a.And: by placing oil in a dirty container (neither will be eaten)
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